Journal of Mathematical Extension Vol. 10, No. 2, (2016), 47-57 ISSN: 1735-8299 URL: http://www.ijmex.com

## The Observational Modelling of Information Function with Finite Partitions

## A. Ebrahimzadeh

Zahedan Branch, Islamic Azad University

**Abstract.** In this paper we study the notions of relative information function and relative conditional information function on a relative probability measure space. We present some examples and prove some theorems about them. Also the concept of relative information function for a relative measure preserving transformation is introduced and some of its properties, are proved. Finally, it is proved that the relative information function of relative measure preserving transformations is invariant under isomorphism.

**AMS Subject Classification:** 37A35; 28D05; 28D99 **Keywords and Phrases:** Observer, information function, relative measure preserving transformation

## 1. Introduction

Molaie in [11] has studied the notion of one dimensional observer. This notion has been applied in dynamical systems [9,13], topology [5,8,9], geometry [12], and mathematical physics [12]. Let X be a non-empty set, then any function  $\eta: X \to [0, 1]$  is called a one-dimensional observer of X. In this paper we assume that  $g: X \to X$  is a mapping,  $\eta: X \to [0, 1]$ is an observer of X and E is an arbitrary subset of X. The relative probability measure of E with respect to an observer  $\eta$  is the function

Received: July 2015; Accepted: October 2015

 $m_{\eta}^{g}(E): X \to [0,1]$  which is defined in [13] by

$$m_{\eta}^{g}(E)(x) = \limsup_{n \to \infty} \frac{1}{n} \sum_{i=0}^{n-1} \chi_{E}(g^{i}(x))\eta(g^{i}(x)).$$

The notation  $m_{\eta}^{g}(E)(x)$  is the measure of E according to an observer viewpoint when it looks at x [13]. In this paper we will use the notion of observer to define the relative information function for relative measure preserving transformations.

# 2. Relative Information Function for Partitions

We assume that  $(X, m_{\eta}^g)$  is a relative probability space.

A partition of X is a disjoint collection of elements of P(X) whose union is X, where P(X) is the power set of X.

Let  $A = \{A_1, ..., A_n\}$  and  $C = \{C_1, ..., C_m\}$  be two finite partitions of X. Their join is defined in [16] as the partition:

$$A \lor C = \{A_i \cap C_j : A_i \in A, C_j \in C\}.$$

If  $T: X \to X$  is a mapping, then T is called relative probability measure preserving if  $T^{-1}E \subseteq E$  and  $m_{\eta}^{g}(T^{-1}E)(x) = m_{\eta}^{g}(E)(x)$ , for all  $x \in X$ . Also we say D is a refinement of C, and write  $C \preccurlyeq_{\eta}^{g} D$ , when we can write each element of C, as union of some elements of D.

**Definition 2.1.** Let  $A = \{A_1, ..., A_n\}$  be a finite partition of X. Then the relative information function of A is defined by

$$I_{(\eta,g)}(A,x) = -\sum_{i=1}^{n} \chi_{A_i}(x) \log m_{\eta}^g(A_i)(x).$$

**Example 2.2.** Let X = [0, 1]. If  $A = \{A_1, A_2, A_3, A_4\}$  such that

$$A_1 = [0, \frac{1}{4}], A_2 = (\frac{1}{4}, \frac{1}{2}], A_3 = (\frac{1}{2}, \frac{3}{4}], A_4 = (\frac{3}{4}, 1].$$

Then A is a partition of X. Now let  $g: X \to X$  be defined by  $x \mapsto \frac{1}{2}$ . Let  $\eta: X \to [0,1]$  be defined by  $x \mapsto x$ . Then

$$m_{\eta}^{g}(A_{i})(x) = \limsup_{n \to \infty} \frac{1}{n} \sum_{i=0}^{n-1} \chi_{A_{i}}(g^{i}(x))\eta(g^{i}(x))$$
$$= \limsup_{n \to \infty} \frac{1}{n} [\chi_{A_{i}}(x) \cdot x + \sum_{i=1}^{n-1} \chi_{A_{i}}(\frac{1}{2}) \cdot (\frac{1}{2})].$$

So  $m_{\eta}^g(A_i)(x) = 0$  for  $i \neq 2$  and  $m_{\eta}^g(A_2)(x) = \frac{1}{2}$ . Thus

$$I_{(\eta,g)}(A,\frac{1}{3}) = -\sum_{i=1}^{4} \chi_{A_i}(\frac{1}{3}) \log m_{\eta}^g(A_i)(\frac{1}{3}) = -\log(\frac{1}{2}) = \log 2.$$

**Theorem 2.3.** If  $T : X \to X$  is a relative probability measure preserving map then  $I_{\eta,g}(T^{-1}A, x) = I_{\eta,g}(A, x)$ , for all  $x \in X$ .

**Proof.** Let  $A = \{A_1, ..., A_n\}$ . Since  $T^{-1}A$  is a partition of X, there exists  $T^{-1}A_{i_0} \in T^{-1}A$ , such that  $x \in T^{-1}A_{i_0}$  and  $T^{-1}A_{i_0}$  is uniqe. So  $x \in A_{i_0}$  and we have

$$I_{\eta,g}(T^{-1}A, x) = -\sum_{i=1}^{n} \chi_{T^{-1}A_i}(x) \log m_{\eta}^g(T^{-1}A_i)(x)$$
  
=  $-\log m_{\eta}^g(T^{-1}A_{i_0})(x)$   
=  $-\log m_{\eta}^g(A_{i_0})(x)$   
=  $-\sum_{i=1}^{n} \chi_{A_i}(x) \log m_{\eta}^g(A_i)(x)$   
=  $I_{\eta,g}(A, x)$ .  $\Box$ 

Now we want to study the concept relative conditional information function for finite partitions. Suppose that A and C are two finite partitions of X.

**Definition 2.4.** [6] The relative information function of A given C is the number:

$$I_{\eta,g}(A/C,x) = -\sum_{i=1}^{n} \sum_{j=1}^{m} \chi_{A_i \cap B_j}(x) \log \frac{m_{\eta}^g(A_i \cap B_j)(x)}{m_{\eta}^g(B_j)(x)}$$

**Theorem 2.5.** Let  $D = \{\emptyset, X\}$ . Then

$$I_{\eta,g}(A/D, x) = I_{\eta,g}(A, x) + \log m_{\eta}^{g}(X)(x).$$

Proof.

$$I_{\eta,g}(A/D, x) = -\sum_{i=1}^{n} \chi_{A_i}(x) \log \frac{m_{\eta}^g(A_i)(x)}{m_{\eta}^g(X)(x)}.$$
  
=  $I_{\eta,g}(A, x) + \sum_{i=1}^{n} \chi_{A_i}(x) \log m_{\eta}^g(X)(x)$   
=  $I_{\eta,g}(A, x) + \chi_{\cup_{i=1}^{n}A_i}(x) \log m_{\eta}^g(X)(x)$   
=  $I_{\eta,g}(A, x) + \log m_{\eta}^g(X)(x).$ 

**Corollary 2.6.** If  $D = \{\emptyset, X\}$  and  $m_{\eta}^{g}(X)(x) = 1$  then

$$I_{\eta,g}(A/D,x) = I_{\eta,g}(A,x).$$

**Theorem 2.7.** If  $(X, m_{\eta}^{g})$  is a relative probability space, and A, C and D are finite partitions of X then i)  $I_{\eta,g}(A \vee C/D, x) = I_{\eta,g}(A/D, x) + I_{\eta,g}(C/A \vee D, x);$ ii)  $I_{\eta,g}(A \vee C, x) = I_{\eta,g}(A, x) + I_{\eta,g}(C/A, x);$ iii) If  $A \preccurlyeq_{\eta}^{g} C$  then  $I_{\eta,g}(A, x) \leqslant I_{\eta,g}(C, x);$ iv) If  $A \preccurlyeq_{\eta}^{g} C$ , then  $I_{\eta,g}(A/D, x) \leqslant I_{\eta,g}(C/D, x).$ 

**Proof.** See [6].  $\Box$ 

**Corollary 2.8.** If  $(X, m_{\eta}^g)$  is a relative probability space, T is a relative probability measure-preserving map, and A, C are countable partitions of X then  $I_{\eta,g}(T^{-1}(A)/T^{-1}(C, x) = I_{\eta,g}(A/C, x)$ .

**Proof.** For each  $A_i \in A, C_j \in C$ , we have  $T^{-1}(A_i \cap C_j) = T^{-1}A_i \cap T^{-1}C_j$ , so  $T^{-1}(A \vee C) = T^{-1}A \vee T^{-1}C$ . By Theorems 2.5 and 2.7 (part ii), we

can write

$$I_{\eta,g}(T^{-1}A/T^{-1}C,x) = I_{\eta,g}(T^{-1}A \vee T^{-1}C,x) - I_{\eta,g}(T^{-1}C,x)$$
$$= I_{\eta,g}(T^{-1}(A \vee C),x) - I_{\eta,g}(T^{-1}C,x)$$
$$= I_{\eta,g}(A \vee C,x) - I_{\eta,g}(C,x)$$
$$= I_{\eta,g}(A/C,x). \quad \Box$$

Two finite partitions A and C are called independent if  $m_{\eta}^{g}(A \cap C)(x) = m_{\eta}^{g}(A)(x)m_{\eta}^{g}(C)(x)$  for all  $A \in A, C \in C$ , and  $x \in X$ .

**Theorem 2.9.** Let A and C be two finite partitions of  $(X, m_{\eta}^g)$ , and let A, C be independent. Then  $I_{\eta,g}(A \vee C, x) = I_{\eta,g}(A, x) + I_{\eta,g}(C, x)$ .

**Proof.** Let  $A = \{A_1, ..., A_n\}$  and  $C = \{C_1, ..., C_m\}$ . Since A, C and  $A \lor C$  are some partitions of X, there exist  $A_{i_0} \in A$ , and  $C_{j_0} \in C$  such that  $x \in A_{i_0} \cap C_{j_0}$  and  $A_{i_0}, C_{j_0}$  are uniqe. So by definition of the notion Independence for A, C, we can write

$$\begin{split} I_{\eta,g}(A \lor C, x) &= -\sum_{i=1}^{n} \sum_{j=1}^{m} \chi_{A_i \cap C_j}(x) \log m_{\eta}^g(A_i \cap C_j)(x) \\ &= -\log m_{\eta}^g(A_{i_0} \cap C_{j_0})(x) \\ &= -\log(m_{\eta}^g(A_{i_0})(x) \times m_{\eta}^g(C_{j_0})(x)) \\ &= -\log m_{\eta}^g(A_{i_0})(x) - \log m_{\eta}^g(C_{j_0})(x) \\ &= -\sum_{i=1}^{n} \chi_{A_i}(x) \log m_{\eta}^g(A_i)(x) - \sum_{j=1}^{m} \chi_{C_j}(x) \log m_{\eta}^g(C_j)(x) \\ &= I_{\eta,g}(A, x) + I_{\eta,g}(C, x). \quad \Box \end{split}$$

**Corollary 2.10.** If A and C are two independent finite partitions of  $(X, m_{\eta}^g)$ , then  $I_{\eta,g}(A/C, x) = I_{\eta,g}(A, x)$ .

**Proof.** From Theorems 2.7 and 2.9, we have

$$I_{\eta,g}(A/C,x) = I_{\eta,g}(A \lor C,x) - I_{\eta,g}(C,x) = I_{\eta,g}(A,x).$$

**Theorem 2.11.** Let A, C and D be finite partitions of  $(X, m_{\eta}^g)$ . If A and  $C \vee D$  are independent then

#### A. EBRAHIMZADEH

$$I_{\eta,g}(A \lor C/D, x) = I_{\eta,g}(A, x) + I_{\eta,g}(C/D, x).$$

**Proof.** Let  $A = \{A_1, ..., A_n\}, C = \{C_1, ..., C_m\}$ , and  $D = \{D_1, ..., D_k\}$ . By definition the notion of partition, there exist  $A_{i_0} \in A, C_{j_0} \in C$  and  $D_{k_0} \in D$  such that  $x \in A_{i_0} \cap C_{j_0} \cap D_{k_0}$  and  $A_{i_0}, C_{j_0}$ , and  $D_{k_0}$  are uniqe. Now since A and  $C \vee D$  are independent, we have

$$\begin{split} I_{\eta,g}(A \lor C/D, x) &= -\sum_{i=1}^{n} \sum_{j=1}^{m} \sum_{k=1}^{r} \chi_{A_{i} \cap C_{j} \cap D_{k}}(x) \log \frac{m_{\eta}^{g}(A_{i} \cap C_{j} \cap D_{k})(x)}{m_{\eta}^{g}(D_{k})(x)} \\ &= -\log \frac{m_{\eta}^{g}(A_{i_{0}} \cap C_{j_{0}} \cap D_{k_{0}})(x)}{m(D_{k_{0}})(x)} \\ &= -\log \frac{m_{\eta}^{g}(A_{i_{0}})(x) \times m_{\eta}^{g}(C_{j_{0}} \cap D_{k_{0}})(x)}{m(D_{k_{0}})(x)} \\ &= -\log m_{\eta}^{g}(A_{i_{0}})(x) - \log \frac{m_{\eta}^{g}(C_{j_{0}} \cap D_{k_{0}})(x)}{m(D_{k_{0}})(x)} \\ &= -\sum_{i=1}^{n} \chi_{A_{i}}(x) \log m_{\eta}^{g}(A_{i})(x) \\ &- \sum_{j=1}^{m} \sum_{k=1}^{r} \chi_{C_{j} \cap D_{k}}(x) \log \frac{m_{\eta}^{g}(C_{j} \cap D_{k})(x)}{m_{\eta}^{g}(D_{k})(x)} \\ &= I_{\eta,g}(A, x) + I_{\eta,g}(C/D, x). \quad \Box \end{split}$$

# 3. Relative Information Function of a Relative Measure Preserving Transformation

In this section we assume that  $(X, m_{\eta}^g)$  is a relative probability space and  $T: X \longrightarrow X$  is a relative measure preserving transformation.

**Definition 3.1.** Let A be a finite partition of  $(X, m_{\eta}^g)$ . The relative information function of T with respect to A is defined as

$$I_{\eta,g}(T,A,x) = \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{i=0}^{n-1} T^{-i}A,x).$$

**Theorem 3.2.** Let A, B, C and D are finite partitions of X. Then the following holds.

$$\begin{split} &i) \ I_{\eta,g}(T,A,x) \ge 0; \\ &ii) \ if \ A \preccurlyeq^g_\eta C \ and \ B \preccurlyeq^g_\eta D, \ then \ A \lor B \preccurlyeq^g_\eta C \lor D; \\ &iii) \ A \preccurlyeq^g_\eta C \ implies \ that \ I_{\eta,g}(T,A,x) \leqslant I_{\eta,g}(T,C,x); \\ &iv) \ I_{\eta,g}(T,T^{-1}A,x) = I_{\eta,g}(T,A,x). \end{split}$$

#### Proof.

i) It is trivial.

ii) Let  $A = \{A_1, ..., A_n\}, B = \{B_1, ..., B_k\}, C = \{C_1, ..., C_m\}$ , and  $D = \{D_1, ..., D_r\}$ . Since  $A \preccurlyeq_{\eta}^g C$ , there exists a partition I(1), ..., I(n) of the set  $\{1, ..., m\}$  such that  $A_i = \bigcup_{j \in I(i)} C_j$  for every i = 1, ..., n. Also since  $B \preccurlyeq_{\eta}^g D$ , there exists a partition Q(1), ..., Q(k) of the set  $\{1, ..., r\}$  such that  $B_q = \bigcup_{s \in Q(q)} D_s$  for every q = 1, ..., k. For each i and q, we have

$$A_i \bigcap B_q = (\bigcup_{j \in I(i)} C_j) \bigcap (\bigcup_{s \in Q(q)} D_s) = \bigcup_{j \in I(i), s \in Q(q)} (C_j \bigcap D_s),$$

and this means  $A \vee B \preccurlyeq^{g}_{\eta} C \vee D$ .

iii) Let  $A = \{A_1, ..., A_n\}$  and  $C = \{C_1, ..., C_m\}$ . Since  $A \preccurlyeq_{\eta}^g C$ , there exists a partition I(1), ..., I(n) of the set  $\{1, ..., m\}$  such that  $A_i = \bigcup_{j \in I(i)} C_j$  for every i = 1, ..., n. So for each  $i, T^{-1}A_i = T^{-1}(\bigcup_{j \in I(i)} C_j) = \bigcup_{j \in I(i)} T^{-1}C_j$ , therefore  $T^{-1}A \preccurlyeq_{\eta}^g T^{-1}C$ . Thus we obtain  $T^{-i}A \preccurlyeq_{\eta}^g T^{-i}C$ , for every  $i \in \mathbb{N}$ . Since  $A \preccurlyeq_{\eta}^g C$  by part ii), we get  $A \lor T^{-1}A \preccurlyeq_{\eta}^g C \lor T^{-1}C$ . Now by induction we conclude  $\lor_{i=0}^{n-1}T^{-i}A \preccurlyeq_{\eta}^g \lor_{i=0}^{n-1}T^{-i}C$ , for  $n \ge 1$ . Since for each  $i, T^{-i}A$  and  $T^{-i}C$  are partitions of  $X, \lor_{i=0}^{n-1}T^{-i}A$  and  $\lor_{i=0}^{n-1}T^{-i}C$ , are partitions of X, too. Therefore by Theorem 2.5, (iii),  $I_{\eta,g}(\lor_{i=0}^{n-1}T^{-i}C, x)$ . Hence  $I_{\eta,g}(T, A, x) \leqslant I_{\eta,g}(T, C, x)$ .

iv) By Theorem 2.3, we have

$$I_{\eta,g}(\bigvee_{i=1}^{n} T^{-i}A, x) = I_{\eta,g}(T^{-1}(\bigvee_{i=0}^{n-1} T^{-i}A), x) = I_{\eta,g}(\bigvee_{i=0}^{n-1} T^{-i}A, x)$$

So we can write

#### A. EBRAHIMZADEH

$$\begin{split} I_{\eta,g}(T, T^{-1}A, x) &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{i=0}^{n-1} T^{-i}(T^{-1}A), x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{i=1}^{n} T^{-i}A, x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{i=0}^{n-1} T^{-i}A, x) \\ &= I_{\eta,g}(T, A, x). \quad \Box \end{split}$$

 $I_{\eta,g}(T,x) = \sup_A I_{\eta,g}(T,A,x)$ , is called the relative information function of T at x, where the supremum is taken over all finite partitions of  $(X, m_{\eta}^g)$ .

## Theorem 3.3.

i)  $I_{\eta,g}(id,x) = 0;$ ii) For  $k \ge 1$ ,  $I_{\eta,g}(T^k,x) = kI_{\eta,g}(T,x).$ 

### Proof.

i) Since T = id, we have  $\vee_{i=0}^{n-1} T^{-i} A = A$ , for any  $n \in \mathbf{N}$ . Therefore,

$$I_{\eta,g}(id, A, x) = \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(A, x) = 0.$$

ii) Let A be an arbitrary finite partition. We can write

$$\begin{split} I_{\eta,g}(T^k, \vee_{i=0}^{k-1} T^{-i}A, x) &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{j=0}^{n-1} (T^k)^{-j} (\vee_{i=0}^{k-1} T^{-i}A), x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{j=0}^{n-1} \vee_{i=0}^{k-1} T^{-(kj+i)}A, x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\vee_{i=0}^{nk-1} T^{-i}A, x) \\ &= \limsup_{n \to \infty} \frac{nk}{n} \frac{1}{nk} I_{\eta,g}(\vee_{i=0}^{nk-1} T^{-i}A, x) \\ &= k I_{\eta,g}(T, A, x). \end{split}$$

 $\operatorname{So}$ 

$$kI_{\eta,g}(T,x) = k \sup_{A} I_{\eta,g}(T,A,x) = \sup_{A} I_{\eta,g}(T^{k},\vee_{i=0}^{k-1}T^{-i}A,x)$$
  
$$\leq \sup_{A} I_{\eta,g}(T^{k},A,x) = I_{\eta,g}(T^{k},x).$$

On the other hand, since  $A \prec \bigvee_{i=0}^{k-1} T^{-i} A$ , we have

$$I_{\eta,g}(T^k, A, x) \leq I_{\eta,g}(T^k, \bigvee_{i=0}^{k-1} T^{-i}A, x) = kI_{\eta,g}(T, A, x).$$

**Corollary 3.4.** Let  $T^k = id$ , for some  $k \in \mathbb{N}$ , then  $I_{\eta,g}(T, x) = 0$ .

**Proof.**  $T^k = id$ , implies that  $I_{\eta,g}(T^k, x) = 0$ . Therefore  $I_{\eta,g}(T, x) = \frac{1}{k}I_{\eta,g}(T^k, x) = 0$ .  $\Box$ 

**Definition 3.5.** Let  $T_1 : X \longrightarrow X$  and  $T_2 : X \longrightarrow X$  be two relative measure preserving transformations. We say that  $T_1$  and  $T_2$  are isomorphic if there exists a bijective relative measure preserving transformation  $\varphi : X \longrightarrow X$  such that  $\varphi oT_1 = T_2 o \varphi$ .

**Theorem 3.6.** If  $T_1 : X \longrightarrow X$  and  $T_2 : X \longrightarrow X$  are isomorphic, then  $I_{\eta,g}(T_1, x) = I_{\eta,g}(T_2, x)$ .

**Proof.** By definition, there exists a bijective relative measure preserving transformation  $\varphi : X \longrightarrow X$  such that  $\varphi oT_1 = T_2 o\varphi$ . We can write

$$\begin{split} I_{\eta,g}(T_2, A, x) &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\bigvee_{i=0}^{n-1} T_2^{-i} A, x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\varphi^{-1}(\bigvee_{i=0}^{n-1} T_2^{-i} A), x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\bigvee_{i=0}^{n-1} \varphi^{-1}(T_2^{-i} A), x) \\ &= \limsup_{n \to \infty} \frac{1}{n} I_{\eta,g}(\bigvee_{i=0}^{n-1} T_1^{-1}(\varphi^{-i} A), x) \\ &= I_{\eta,g}(T_1, \varphi^{-1} A, x). \end{split}$$

So

$$I_{\eta,g}(T_2, x) = \sup_{A} I_{\eta,g}(T_2, A, x) = \sup_{A} I_{\eta,g}(T_1, \varphi^{-1}A, x)$$
  
$$\leqslant \sup_{A} I_{\eta,g}(T_1, A, x) = I_{\eta,g}(T_1, x).$$

Therefore  $I_{\eta,g}(T_2,x) \leq I_{\eta,g}(T_1,x)$ . Similarly we obtain  $I_{\eta,g}(T_1,x) \leq I_{\eta,g}(T_2,x)$ .  $\Box$ 

#### Acknowledgements

This research has been extracted from a Research project and has been supported financially by Young Researchers and Elite Club.

# References

- D. Dumetrescu, A Note on Fuzzy Information Theory, Studia Univ. Babes-Bolyai Math, 3 (1998), 65-69.
- [2] A. Ebrahimzadeh and M. Ebrahimi, The entropy of countable dynamical systems, U. P. B. Sci. Bull., Series A, 76 (4) (2014), 107-114.
- [3] A. Ebrahimzadeh and M. Ebrahimi, Entropy of Dynamical Systems on Weights of a Graph, *Journal of Mahani Mathematical Research Center*, 2 (2013), 53-63.
- [4] M. Malziri and M. R. Molaei, Relative Metric Space, Hacettepe Journal of Mathematics, and Statistics, 40 (5) (2011), 703-709.
- [5] B. McMillan, The Basic Theorems of Information Theory, Anal. Math. Stat., 24 (1953), 196-219.
- [6] U. Mohammadi, Relative Information Functional of Relative Dynamical Systems, *Journal of Mahani Mathematical Research Center*, 2 (2013), 17-28.
- [7] M. R. Molaei and B. Ghazanfar, Relative Probability measure, Fuzzy Sets, Rough Sets, Multivalued Operations and Applications, 1 (1) (2008), 89-97.
- [8] M. R. Molaei, Observatinal Modeling of Topological Spaces, Chaos, Solitons and Fractals, 42 (2009), 615-619.

- [9] M. R. Molaei, M. R. Hoseini Anvari, and T. Haqiri, On Relative Semidynamical Systems, Intelligent Automation and Soft Computing, 13 (4) (2007), 405-413.
- [10] M. R. Molaei and H. Molaei, Relative Topological Pressure, *Mathematical Reports*, 12 (1) (2010), 31-36.
- [11] M. R. Molaei, Relative Semi-dynamical, International Journal of Uncertainty, Fuzziness and Knowledge-based Systems, 12 (2) (2004), 237-243.
- [12] M. R. Molaei, Selective Manifold, Journal of Advanced Research in Applied Mathematices, 3 (2) (2011), 1-7.
- [13] M. R. Molaei, The Concept of Synchronization from the Observers Viewpoint, Cankaya University Journal of Science and Engineering, 8 (2) (2011), 255-262.
- [14] C. Shannon, A Mathematical Theory of Communication, Bell Syst Tech Journal, 27 (1948), 379-423.
- [15] I. Tok, On the Fuzzy Information Function, *Doga Tr. J. Math.*, 10 (1986), 312-318.
- [16] P. Walters, An Introduction to Ergodic Theory, Springer, Verlag, (1982).

#### Abolfazl Ebrahimzadeh

Department of Mathematics instructor of Mathematics Young Researchers and Elite Club Zahedan Branch, Islamic Azad University Zahedan, Iran E-mail: abolfazl35@yahoo.com